EARAROBEEIERT — 2 N— IBISH —F

20174128168 (+) 9mEKIR4H

KW C 2+<# >R —K ‘ (%] 2 ‘ (sEmsml  — | & (&) 13000 FR
[xE£] 1% :200,000  23#%:40,000 ™ ~ 33#%&:20,000M  437%&:14,000H 5% :6,000H
B ®RBE RESB MK MHE BF (F8) 4L (&%) | BBIEG | EOF |SIEH | AR | HE | NG FIR) / BE / £EHS
— HEA :23. -1-1- . — #HEE (KR)
B el 7174 4 3 ns 1(2_3)1 1-1-1-1 | 39.1 2 (4_5;2) Ll
AFAd=I R By —XF—IINT1yTa J=HrTrp—L
. _ BIAE :23. —4-4- . — NFEEIE (BRFE)
olglo|752N—7F2 t 8| B R R LE R @
R:F4—TTVI 7 B:I5XTryar 2YNT 7 —L
. . AR — : -3-3- — NFEEAE (BRE)
q : RIS 4 3 e 1(.12/32.>7 4-3-3-3 | 39.4 1 (3_814) ;';\Baﬁg;a
L:ZRFAd—I K B:X/—-TL—-72 H—L— - JvIN> - Ty7—LERS
5 ILAEER : -G — A (B
A . MEPAEEL R IN 4 3 £ 1.(213).9 3-2-2-2 | 39.6 3 (5_162) e
L:a2—RVEIIL B:ixA4H () HAa-KRL—Ya>AET7
N . R SRR 124, —6-6- . — {2 ARHEAI (KR)
5l7|7 A>T UT7~NX=Ib i 3 54.0 (12214/23) 5665 | 39.4 6 (4_12) ana) ?
LN=VI754 B:Hr/F3IT FRBE%S
N 5 BEMRE :25. ~7-5- . — TREEFE (KR)
6155 YYo= T Y4 —X 4 3 \56_0 1(255)1 5-7-5-6 | 40.2 5 ags)) A
LhT/RI47T By =>T7oH SRS
S I\HiZ : 87— — THERE (M)
7188 LT — 3 '550 1(7251:>2 6-8-7-7 | 40.1 8 (3_631) Py
L:XFATd=IK B:o7)—-X> ARETa—-T7—L
P i mBRE 125, -9-9- . — bR (EE)
8 NESEEDE 4 3 56.0% 1(225)5 9-9-9-9 |39.5 9 ::111) b
LW—=F—=29 7 BUHA b TFv—L 1EE BB—
. KEFE :26. 58~ 3 - THHZ (R
olil1|7oEya 4 3 P 1(246)2 7-5-8-8 | 41.3 7 (4_131) RRE
R:7VA—v BIXF4vI57 He B
® 1 — @B
15l=2F= 6,9,4,3,5,8,1,7,2
Ao=5"= 6,4,3,9,1,7,5,8,2
T =35r= 6,4,3,9,5,7,8,1,2
41—F— 6,4,3,9,7,5,8,1,2
[ RN
-y 6 4508 | | 71 K 6-9 550/ | | # = 6-8 1,610 | | 3&4& 3-6-9 1,040/
# B 6 210H 3-6 240 B E 6-9 1,950M EE 6-9-3 9,940/
9 220M 3-9 230M B H 6-9 3,350M
3 1309

ABICOVWTRDTEEERROODE. TR LIV,




